Measuring weight Tim filler:

Weigh a packet of biscuits (it does not matter if

You will need to know how to they are partly eaten). Write the amount in grams

(g) and then again in kilograms (kg). Weigh some
Li?g S:ﬂﬁsaznd;;?;ng\: :)etg\:,gﬁ:; vegetables and fruits and record these amounts

for these questions. Good luck! in grams and then in kilograms, too.

@ Who has the most flour @ Amir puts on 0.45kg weight @ A builder needs 200kg of
and by how much? ﬂ m U U Carl’s flour after eating a big meal. sand in order to make cement.
Before the meal, Amir Sand comes in bags of 25kg.
2.2kg 2.2kg 2.2kg 2.2kg welghed 36.5 kg
How many bags will the
ﬂ m m Gail's flour How much does Amir builder need?
................................................ . 700g 700g  700g Weigh after the meal?
@ Danny needs to buy 20kg @ Change each amount to grams (g). ; z ; z
of potatoes for a restavront. | e ' T '
The potat i . 1.6k :
) lejfo Sgoe: come . 9 e A box of Flakeywheats weighs 860g when full.
g Pags. A quarter of the box has been used.
How many bags will Danny b.3.55kg | . R :
need to buy? LS 5 How much is left? :
c.0.63kg |
S ' S ' @ What weight Show this
is sh ight
@ In 2009, the average weight @ Change each amount to ;EIZ soc\g|ne'(?)n ;/gj?m'zn
of a man was 84 kg and the kilograms (kg). ' :
average weight of a woman |
was 69kg. a. 674g
What is the difference in =~ | e : 700\&\\\\\\\\"/////////0(’ - \gi\"\\\\\(l)x/////s/;// »
average weights? b.2,045g ' : ° ﬁﬁ°§\ 9 /%*50
....................................................................... 550;?//// \\\\\\\\:m
c. 7,500g o
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Change each amount to A milk carton contains

millilitres (ml). 3.408 litres of milk when full.
o as e e
L 3 carton When ” |5 hOh( fU”?

b. 0.65 litres

c. 0.04 litres

A bottle of health drink
confains 800g of liquid.

@ A litre is about 1.76 pints.

Change each amount fo pints.

How much liquid will be a. 3 litres :

held in six bottles? L i
b. 5 litres .
c. 10 litres

In the UK, we sometimes measure liquid in pints instead of litres.
A litre is a bif less than two pinfs.

Change each amount fo pints (rounded to the nearest whole pint).

a. 5 litres b. 10 litres c. 15 litres

A cube has a volume of

125 cubic centimetres (cm3).

@ A can of drink holds 440 ml.

How much drink will there
What will be the volume of be in three cans?
six cubes? Give the answer in litres.

@ This is part of

a scale from a
measuring jug.

@ Change each amount fo litres.

What are the a. 450ml
amounts shown
by the arrows? b. 2,100ml

c. 12,000ml|
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In the UK, we sometimes measure liquids in gallons.
A gallon is about 4.5 litres.

Work out each amount in litres.

a. 4 gallons b. 10 gallons c. 0.5 gallons
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Answers:

Measuring liquids Measuring weights

(1) Who has the most flour (&) Amir puts on 0.45kg weight | (7) A builder needs 200kg of (1) Change ach amaunt o (2) A milk carton contains (8) Abote of health drink (7) Al is about 176 pints
and by how much? t’ Carls flour ~ after ealing a big meal sand in order fo make cement millltes (mi) 3.408 lires of milk when ful contains 800g of iquid Change each amourt fo pints
- - - Before the meal, Amir Sand comes in bags of 25kg . .
22 22k 22k 22k weighed 36.5kg a. 1.85lies i 1,850ml How much milk is there in the How much liquid will be a. 3 litres 5.28 pints
b t‘ t‘ How many bags will the - carton when it is half full? held in six botfles?
Gail's flour How much does Amir builder need? b
Carl=6.7kg 7009  700g  700g weigh after the meal? b. 0.65 lires i 550ml b. 5 litres 8.80 pints
- - . - . 1.704 litres (1,704 ml) 4,800g (4.8kg)
(2) Danny needs to buy 20kg ‘(3)‘ Change each amount to grams (g) 36.95kg 8 c. 004 lires 40ml ; . 10 litres 17.6 pints
~ of potatoes for a restaurant .
;“2 polaloes come in albkg g (8) A box of Flakeywheats wieighs 860g when ful (3) In the UK, we sometimes measure iquid in pints instead of lires A cube has a volume of (9) A can of drink holds 440
9 bags = A quarter of the box has been used Alitre is a bit less than two pints 125 cubic centimetres (cm?) y o
low muc rink will there
How many bags will Danny b. 3.5k 3,509 How much is lefr? Change each amount to pints [rounded fo the nearest whole pin What will be the volume of be in three cans?
need fo buy? 6459 six cubes? Give the answer in litres
. 063k a. 5 litres b. 10 litres c. 15 litres
¢ 0.03kg 6309 750cm? 1.321
| ® What weight Show this About 10 pints About 20 pints. About 30 pints. 3 e
— sh ht
(4) 1n 2009, the average weight | (5) Change each amount o hown on gt on | o.askg —
of a man was 84kg and the | kilograms (kg) 15 scale © scale @ This \s‘ p;m of (5) Change each amount fo litres n rheHUK, webso'ne'\m‘es measure liquids in gallons
average weight of @ woman a scale fiom a A gallon is about 4.5 ltres
was cgokg N a. 6749 measuring jug 250mI 051
0674k . What are the a. m Work out each amount in litres.
AU T 0 is sh
What is the difference in - N7Z AT amounts shown
average weights? b.2,045g 2.045kg 645g S Z® w§\\\\\ g %m by the arrows? b. 2,100ml 211 a. 4 gallons b. 10 gallons c. 0.5 gallons
Z S = 5
My e S
15kg } .7,500g 7.5kg < /Z/f/”f.‘)l\\\\\s: py ”@/@\ﬁ)\‘\i\ﬂ\& 300m! and 450m! c. 12,000ml 121 18l 451 2.251
. . ) . . . - . . s Volumes can be confusing to children but they need to Sometimes the child can be confused by volume
is work has two main parts. The first part is knowing the is the ability to measure using weights and scales in digita . . . - . L
Th k has tw ts. The first part is k th the ability f hts and scal digital k d be abl h Fvol d b h | liowid
. . . . now and be able to use the main units of volume an eing given as a weight. For example, some liquids
relationship between grams and kilograms and being able  and analogue forms. b h hild d 1o be abl 1l Ee ai her than th dli
to ch betw th Th d ; convert between them. Children need to be able to will be given as grams rather than the expected litres
© change between them. The second par calculate volumes using simple measuring devices. or millilitres.
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